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Result: 27

e Input: 3, Operation: square, Result: 9
e Input: 3, Operation: cube, Result: 27
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Buggy Website koni-prog-online.com/textpage/webpage/web/level8/is/is1 bug.js
New Buggy Website koni-prog-online.com/textpage/webpage/web/level8/is/is? bug.js
BEEAMEME T 794 b koni-prog-online.com/textpage/webpage/web/level8/is/is3 bug.js
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https://www.koni-prog-online.com/textpage/webpage/web/level8/js/html1_bug.html
https://www.koni-prog-online.com/textpage/webpage/web/level8/js/js1_bug.js
https://www.koni-prog-online.com/textpage/webpage/web/level8/js/html2_bug.html
https://www.koni-prog-online.com/textpage/webpage/web/level8/js/js2_bug.js
https://www.koni-prog-online.com/textpage/webpage/web/level8/js/html3_bug.html
https://www.koni-prog-online.com/textpage/webpage/web/level8/js/js3_bug.js
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[Enter text here ] [ Submit ]
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<html lang="en">
<head> ‘
<meta charset="UTF-8"> _ _ _ o ‘
<meta name="viewport” content="width=device-width, initial-scale=1.0">
<title>Buggy Website</title>
</head>
<body>_
<d|v>' H b " "
<input id="myInput” type="text” placeholder="Enter text here”>
<button id="myButton”>Submit</button>
<div id="output”></div>
<ul id="List"></ul>
</div> . . .
<script src="js1 bug. js"></script>
</body>
</html>
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<> html1_bug.html > & html
html
lang="en"

<> html2_answer.html
charset="UTF-8"

<> html2_bug.html

name="viewport" content="width=device-width, initial-scale=1.0"

<> html3_answer.html Buggy Website

<> html3_bug.html
Js js1_answer.js
Js js1_bug.js

5 js2 answerjs id="myInput™ type="text" placeholder="Enter text here”

IS

s2_bug.js

id="output"

Js js3_answer.js id="list"

J
J
J, id="myButton">Submit
J
J
J

Js js3_bug.s

src="jsl_bug.js"
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Result: 27

e Input: 3, Operation: square, Result: 9
e Input: 3, Operation: cube, Result: 27
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https://www.koni-prog-online.com/textpage/webpage/web/level8/js/html1_answer.html
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2 DOBEDwebT1~DFERSE Corrected Website

23 Calculate Square

Input was: 23
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https://www.koni-prog-online.com/textpage/webpage/web/level8/js/html2_answer.html
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Result: 27

e Input: 3, Operation: square, Result: 9
e Input: 3, Operation: cube, Result: 27
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JS js3_answerjs > ...
1
document.addEventListener('DOMContentlLoaded’,
form = document.getElementById('calcForm');
resultDiv = document.getElementById('result');
historylList = document.getElementById('histor

form.addEventListener('s
event.preventDefault/(

bmit', (event) {

input = document.getElementByI
operation =

inputNumber').value;
document.getElementById( 'operation’).value;

number = parseInt(input, 18);
if (isNaN(number) || number < @) {

resultDiv.innerText = "Invalid input. Please enter a positive number.";
resultDiv.style.color = "red";
return;

result;
switch (operation) {
case 'factorial':
result =
break;

factorial(number);
case 'square’:

result = number ** 2;
break;

case ‘cube’:

—_ ~

SIVIATA B

A ANGATSEN

result =
break;

default:
resultDiv.innerText =
return;

number ** 3;

"Unknown operation.";

resultDiv.innerText = “Result: ${result} ;

resultDiv.style.color = "green";

historyItem = document.createElement('1i");

historyItem.textContent =

historylList.appendChild(historyItem);
if (historyList.childElementCount > 18) {
historyList.removeChild(historyList.firstChild);

form.addEventListener( 'reset’,

01
historyList.innerHTML = '';
resultDiv.innerText = "History cleared.";
resultDiv.style.color = "black";

s

“Input: ${number}, Operation: ${operation}, Result:

${result} ;
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document .addEventListener ('DOMContentLoaded’,
button = document.getElementById( 'myButton’

button.addEventListener('click’, () {

input = document.getElementById( ' 'myInput’

) .value;

output = document.getElementById( 'output”’);

list = document.getElementById('list');
output.innerText = input;

list.innerHTML B

listItem = document.createElement('1li');
listItem.textContent = input;
list.appendChild(listItem);

if (input === "error") {
output.style.color = "red";

} else {
output.style.color "black";

}s;

console.log("Event listeners properly configured."
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5 js2_answerjs X " I3
J5 js2_answerjs > 0 document.addEventListener(DOMContentLoaded’) callback > @ button.addEventlistel  JS js2_answer
— A\ document.addEventListener('DOMContentlLoaded’, { T document.addEventListener( 'DOMContentLoaded’,
button document.getElementById( 'calculateButton'); button.addEventListener('click’, ) {

logDiv document.getElementById( log’'); N
J

button.add?ventLlstener g 01 resultDiv.style.backgroundColor = "yellow";
input = document.getElementById(  'textInput').value; if (number > 160) {
resultDiv = document.getElementById('result") IPesultDi“ st;l; weiler = ChiluETs
V. Y - = 2
- ) } else {
number = parseInt(input);
if (isNaN(number)) {

resultDiv.innerText = "Please enter a valid number.";

resultDiv.style.backgroundColor = "red";

return;

resultDiv.innerText = ~Square: ${number * number};

logEntry = document.createElement('p’');
logEntry.textContent = “Input was: ${inpu

logDiv.appendChild(logEntry);
if (logDiv.childElementCount > 18) {
logDiv.removeChild(logDiv.firstChild);

if (input.tolLowerCase === "clear") {
while (logDiv.firstChild
logDiv.removeChild(logDiv.firstChild);

resultDiv.innerText = "Log cleared.";
return;

22
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JS js3_answerjs > ...
1

document.addEventListener('DOMContentlLoaded’,
form = document.getElementById('calcForm');
resultDiv = document.getElementById('result’
historylList = document.getElementById('history

'

form.addEventListener('submit’, (event) {

event.preventDefault

input = document.getElementById( 'inputNumber').value;
operation = document.getElementById('operation’').value;

number = parseInt(input, 18);

if (isNaN(number) || number < @) {
resultDiv.innerText = "Invalid input. Please enter a positive number.";

resultDiv.style.color = "red";
return;

result;
switch (operation) {

case 'factorial':
result = factorial(number);
break;

case 'square’:
result = number ** 2;
break;

case 'cube’:

SIVIATA B

result = number ** 3;
break;
default:
resultDiv.innerText = "Unknown operation.";
return;

resultDiv.innerText = “Result: ${result} ;
resultDiv.style.color = "green";

historyItem = document.createElement(

historyItem.textContent = "Input: ${number}, Operation: ${operation}, Result:

historylList.appendChild(historyItem);
if (historyList.childElementCount > 18) {
historyList.removeChild(historyList.firstChild);

form.addEventListener( 'reset’, O {

historyList.innerHTML = H
resultDiv.innerText = "History cleared.";
resultDiv.style.color = "black";

s

${result} ;
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factorial(num
if (num === @ || num === 1) return 1;
result =
for ( i =

1;
2;

i <= num; i++) {
result *= i;

if (result > Number.MAX_SAFE_INTEGER) {
return "Value too large to compute.”;

}

return result;
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